
The Wyrmstooth Crown Addition and Subtraction

The Wyrmstooth Crown Addition and Subtraction

The Wyrmstooth Crown Addition and Subtraction

The Wyrmstooth Crown Addition and Subtraction

Miranda went dragon-hunting for 189 minutes 
one week and 234 minutes the following week.  
How many minutes does she dragon-hunt for over 
the two weeks?

Miranda’s gran is aged 72 and 
her dad is 45. 

How old was Gran when she 
had Miranda’s dad? 

Miranda’s dad has 562 workers, then he employs 
an additional 19. How many workers does he have 
in total?

An archaeologist discovers 127 artefacts in 
the quarry. 649 had already been discovered. 

1 2

3 4

How many artefacts have been 
discovered altogether?
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Redbreath has a jewellery box containing 315 
jewels and an additional box containing 97 jewels. 

How many jewels does she have in total?
Guster calculated that

423 + 72 = 485. Is he correct or 
not? Justify your answer.

Miranda has been reading a history book, all about 
the Wyrmstooth Crown. She has read 349 pages 
and has 93 pages left. 

How many pages are in the book altogether?

The valley contains 370 trees, however 
182 are cut down. 

How many trees remain?

5 6

7 8
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Miranda was dragon hunting for 163 minutes one 
weekend. She took a rest for a picnic, which lasted 
28 minutes. 

How long was she actually hunting for? 

The museum charges £3.50 per 
child and £5.20 per adult. 

What would the price be for two 
adults and one child?

Miranda’s school has 17 new children join in 
September. They now have 343 children attending. 

How many children did they originally have?

Guster flies for 76 miles on Monday, 
92 miles on Tuesday and 54 miles  
on Wednesday. 

How many miles does he fly altogether?

9 10

11 12
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Miranda went dragon-hunting for 329 minutes one 
week and 605 minutes the following week. The next 
week. How many minutes does she dragon hunt for 
over the two weeks?

Redbreath is organising her 
vast collection of jewels. In 
total, she has 1050. She stores 
419 jewels in a box. 

How many are remaining?

Miranda’s dad drives a truck. Last month he drove 
1425 miles. This month, he drove 1784 miles. 
What is the difference in mileage between the  
two months? 

Miranda was dragon-hunting for 1246 
minutes one month. However, she had to stop 
to help Gran cook dinner each night, which 
totalled 245 minutes. How long was she 
actually hunting for?
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The museum charges £3.75 per child and £7.29 
per adult. What would the price be for two adults 
and three children? Guster calculated that

1023 + 148 = 1071. 

Is he correct or not? Justify  
your answer.

The valley contains 1547 trees, however 698 are 
cut down. 

How many trees remain?

Guster flies for 437 miles during January, 
259 miles in February and 648 miles 
during March. 

How many miles does he fly altogether 
over the three months?
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Miranda’s dad has 762 workers, then he employs an 
additional 458. However 14 leave the company. 

How many workers does he have in total?
Miranda’s school has 27 new 
children join in September. 
They now have 459 children 
attending. However, 13 children 
have left recently. 

How many children did they 
have before September?

Miranda has been reading a history book all about 
the Wyrmstooth Crown. She has read 542 pages 
and has 179 pages left. 

How many pages are in the book altogether?

An archaeologist discovers 417 artefacts 
in the quarry. 359 had already been 
discovered. However, 48 turned out to 
be worthless. 

How many important artefacts have 
been discovered altogether?

9 10

11 12
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Miranda went on a dragon-hunting trek and clocked 
up 5471 steps during one day, 7892 steps the next, 
6791 steps the following day and 5289 the final day. 

Redbreath is organising her vast 
collection of jewels. In total, 
she has 10 400. She stores 326 
jewels in a box and gives 486  
to Miranda. 

How many are remaining?

Miranda’s dad drives a truck. Last year he drove 
10 472 miles. This year, he has driven 9359 miles. 
What is the difference in mileage between the  
two months?

Miranda’s school held a fundraiser and set a 
target of £1000. The money raised totalled 
£2168. The fundraiser cost £376 to organise. 

Did they reach their target? 

If so, by how much?

1 2

3 4

How many steps in total has Miranda 
walked during her trek?
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The museum charges £4.85 per child, £9.29 per 
adult and £6.89 per senior citizen. What would 
the price be for two adults, one senior citizen and 
four children? 

Guster calculated that  
615 836 + 264 865 – 24 
865 = 845 836.

Is he correct or not?  
Justify your answer.

Wyrmstooth Mountain is 2278 metres high. Ben 
Nevis is 1344 metres and Mount Everest is 8848 
metres high. How much higher is Mount Everest 
compared to the combined height of the other  
two mountains?

The valley of Wyrmstooth has a population 
of 79 458 and Dragonsville has a population 
of 65 867. 

What is the difference in the population 
between the two locations?

5 6

7 8

The total is paid for with a 
£50 note, how much change 
is given?
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An archaeologist discovers 1035 artefacts in the 
quarry. 1189 had already been discovered. However, 
409 turned out to be worthless. The valley contains 10 867 trees, 

however 1486 are cut down. 
Miranda’s school plant 150 new 
trees. How many trees remain?

Guster flew for 4028 miles last year and this year 
he’s already flown 5478 miles. 

How many more miles has Guster flown this year?

Miranda buys a loaf of bread for £1.49, 
a drink for 89p and a magazine for 
£4.85. She pays with £20.00. 

How much change does she receive?

9 10

11 12

How many important artefacts have been  
discovered altogether?
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